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Pegel Heimborn
Ereignis1l7, HQ <1
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Niederschlag [mm/h]

N-Summe: 24,66
Scheitelabfluss: 19,20
Q Ereignisbeginn: 4,12
Ereignisdauer: 204
Abflussbeiwert: 57
N-Dauer: 79
max. N-intensitat: 1,59
mittl. N-intensitat: 0,31
Verzdgerungszeit: 45
Vorfeuchte: mittel
Wetterlage: 40

Niederschlagsverteilung

EZG Peqgel Heimborn

[

GEWasser

H

_{N

)

unkter 15,30
15,3- 16,2
16,2-17,1
17,1 -15,0
15,0-15,9
15,9-19,8
19,5 - 20,7
20,7-21,6
2l,6-22,5
22,5-23,4
23,4 -24,3
24,3-25,2
20,2-26,1
26,1-27,0
27,0-27,9
27,9-28,8
28,8 -29,7
29,7 - 30,6
30,6-31,5
31,5-32.4
dber 32,40
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